T3 FESTURFR S EEHRE KRR R

(#E]
F OB #F #-2-2 BHRAR | BEHERESN| TEEH REBEY BREY AFEH
s Y o0 L% 21 [6]| (BmE®) 19 [4] -
a—X = —
RT SE AT Y 1 4 =2 bed -
JUETTIE g ptaly e 5 - . S —
aAXaz=4H—23 2R (2] (1]
~3A=A B - 2 1 0 [0] 0 [0]
it 15 25 [8] 22 10 [2] 10 [2]
1R 4 10 4 10 3 10 -
BEEH 4 [0) o) Lol
BiE - 2 [0] 0 [0] 0 [0]
1R 3 1] 2 [0] 2 [0] -
, BHE By 3
RELE BiE - 2 [0] 0 [0] 0 [0]
1R 3 M 3 M 3 -
REZFH 3 ) ) i
B - 2 [1] 2 1 2 [1]
i 10 10 [2] 9 2 [1] 2 [1]
1R 8 8 6 [ -
WEEH 5 il i i
BiE - 6 [1] 5 [1] 5 [1]
1R 4 2 4 2 3 2 -
EWER 4 2 2 2
B RiE - 3 2] 3 2] 3 2]
1R 8 [4 8 [4 5 2 -
EMBEBREHER 3 Al al 21
B - 5 [2 1 [0] 1 [0]
it 12 20 7 20 9 [3] 9 [3]
1R 5 [2]| (mmE®) 5 [2 -
RS R T LEER 41 2% — 5 [2] 5 [2] -
RiE - 5 [2] 5 [2] 5 [2]
I 1R 23 [7]] @mES) 16 [6] -
s 0 - BT A VR 10
BHTYA EH B2 — 16 [6] 9 [5] 9 [5]
1R 2 [0]| @mE® 2 [0] -
HHETYA O TER 3| 2% - 2 [0] 2 [0] -
B - 2 [0] 1 [0] 1 [0]
it 17 30 9] 23 15 [7] 15 [7]
Cl i 54 85 [26] - 36 [13] 36 [13]

[ ] E&FTRE,




